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QUESTION 1

The table below shows statistics for two variables. True or false: all people having a valid value for the variable AGE
WHEN FIRST MARRIED also have a valid value for the variable AGE OF RESPONDENT.

Descriptive Statistics
I Mean
AGE OF HESFOMDEMT 1601 46.04
AGE WHENM FIRST 1294 2274
MARRIED
Walid M (listwize) 1291
A. True
B. False

Correct Answer: B

QUESTION 2

Suppose you want to get help on the Cumulative Percent column in a FREQUENCIES table. Using the figure below,
how would you do it?

HAPPINESS OF MARRIAGE
Cumulative
Frequency | Percent | Valid Percent Perzent
Valid VERY HAPPY 528 329 61.9 61.9
PRETTY HAPPY 300 18.7 35.2 ar.1
NOT TOO HAPPY 25 1.6 29 100.0
Total B53 53.1 100.0
Missing REFUSED TO ANSWER B 5
Systemn 744 454
Total 752 469
Total 1606 100.0

A. Go to Help ... Topics and search for Cumulative Percent.

B. Go to Help ... Command Syntax Reference and search for Cumulative Percent.

C. Go to Help ... About.

D. Double-click the table, right-click Cumulative Percent and select What\\'s this? from the pop-up menu.

Correct Answer: D
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QUESTION 3

Which interpretation is correctfor this Regression Coefficients table?

Ceoefficients®
Standardized
Linstandardized Coefiicients Coefiicients
_Nods| B Sid. Errcr Beta i Sig.

1 (Constant) -624 687 1166.460 -527 589
Employvee Gender -1623.252 264.350 -.249 -6.163 000
Minarity Classification -882.818 284 710 - 124 -3 487 001
Educational Level [years) G4z 284 43,296 589 14.835 000
Employee Age 33,871 17,265 131 2.078 038
Wark Experience (years ) 22680 23.602 06z a6z AT
Months on Job 21,770 11.126 =68 =1.957 051

a. Dependent Variable: Beginning Salary

A. For every additional year that you get older, your beginning salary decreases on average by $13.
B. For every additional year that you get older, your beginning salary decreases on average by $35.9.
C. Forevery additional year that you get older, your beginning salary increases on average by $13.

D. For every additional year that you get older, your beginning salary increases on average by $35.9.

Correct Answer: D

QUESTION 4

The text file shown in the figure below is an example of a fixed format text file.
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“ Text Import Wizard - Step 1 of 6

G R IR 2R 5
Gl 200 T 4 33
ail j |:--|..\|.'I. 1) i
GIITRTOO91 ¥ 1T
G T

Wielcome 1o the text impornt wizard!

This wizard will help you read data from your texd file and specity information about the
variables.

. [owr Does your text file match a predefined format?
2 | ] (L) Yes
3 i
| a
|- I
. eota e T

Text file: CCertification'employes data.csv

1
1] lid,gender,bdace,educ,jobcac,salary,salbegin,jobtine, prevexp,ninority ki
l,m,2/3/1952,15,3,57000,27000,98,144,0 =

2,m,5/23/1958,16,1,40200,18750,98,36,0
4 3,t,7/26/1929,12,1,21450,12000,98,3861,0 ;
4,£,4/15/1947,8,1,21900,13200,98,190,0 -
(B | » |

| Nt >

A. True
B. False

Correct Answer: B

QUESTION 5

Which interpretation is correct for the IndependentSamples T-Test table shown below?

Independent Samples Test
Lewvene's Test for Equality of
Varances -test for Equality of Means

F Sig 1 di Sig_(2-tailed)

WWW HOURS Equal variances 15.182 000 -4.902 1699 000
PER WEEK assumed

Equal variances not -4 866 | 1605394 .0oo
assumed

A. We did not meet the assumption of homogeneity of variance; however our two groups differed on the number of
WWW HOURS PER WEEK.
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B. We did meet the assumption of homogeneity of variance and our two groups differedon the number of WWW
HOURS PER WEEK.

C. We did not meet the assumption of homogeneity of variance and our two groups did not differ on the number of
WWW HOURS PER WEEK. We did meet the assumption of homogeneity of variance; however our two groups did not
differ on the number of WWW HOURS PER WEEK.

Correct Answer: A
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